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Run &171 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—
Entries: 4123
Mean: 11.6339 &/- 000061
St Dhey: 0.393% 4 00043

=== Lager OFF ---
Entries: 5300
Mean: 284343 «- 0.0037
Sid Dhey: 00685 +~ 00026

2 5 E] iIH 12
Run 6171 quartetwise, Diffs)
=== Laser O -—
Entries: 4123

Run 6171 quartetwize, Asyms)

Mean: -0.5700 «/- 0OOT
Sid Dey: 04561 & 0.0050

=== Laser OFF ---
Eniries: 5300
Mean: 00119 «~ 0.0047
Sid Dey: 03458 - 00034

L[TT

=== Laser ON -—
Entries: 4123
Mean: -31.7326 +/- 0.39565
Sid Dev: 253937 4/~ (L2796

=== Laser OFF ---
Entries: 5300
Mean: 06601 +- 0. 2644
Sid Dhev: 19,2500 4/~ (L1ET0
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Run 6171 quartetwise, NegHalAccO/NSamplas)

=== Laser O -—-
Entries: 4123
Mean: 12,1039 /- 000064
Sid Dhev: 0007129 &0 00045

=== Lager OFF ---
Entries: 5100
Mean: 2816 «/- 0.0036
Sid Dev: 00636 - 00026
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Run 6171 quartetwise, Sums0
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=== Laser O -—-
Eniries: 4123
Mean: 36378 &~ 00,0104
Sid Dhev: 0UBEST & 00073

== Laser OFF ---
Eniries: 5300
Mean: 56750 +- 0.0066
Sid Dhev: 04044 - 0.00%9
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Run &171 quartetwise, PosHalAccd

— — Lasar O —
[— Erlnes: 4151
— Mann: AT THTE 4. 14000113
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Run 6171 quartetwise, Diifs4
— — Lasar O —
:_ Cnlnea: 4121
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— Erthriim: 310
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Run 6171 quartetwise, Asymsd
— === Laser ON -—
— Entries: 4123
— Mean: -32.0736 +/- 02971
:_ Sbd Dev: 19.0762 +0- 02701
— == Laser OFF -—-
— Entries: 5300
— Mean: 01538 +- 0.1263
E Sbd Dev: 91240 & 0.0886
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Run 6171 quartetwize, NegHalAcc4
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Run 6171 quartetwise, Sums4
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Run &171 quartetwize, Asyms LSbgl

|l A,

=== Laser O -—
Entries: 4123
Mean: -0.0012 «/- U007
St Dhey- 0U5827 4~ D006

=== Lager OFF ---
Entries: 5300
Mean: 00003 « - 0,080
Sid Dey: 05708 - 00056
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Run &171 quartetwize, Asyms DSbgl

=== Laser O -—
Entries: 4123
Mean: 0L00ST «- 0.0014
Sid Dhey: 00902 =~ 00070

=== Laser OFF ---
Eniries: 5300
Mean: 00025 +- 0.0012
Sid Drey: 0L0904 - 00009
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Run 6171 quartetwise, Asyms Horiz Fingar
_ === Laser ON -—
Entries: 4123

0.5

Mean: 000004 4/~ 0.0042
Sbd Deew: 02722 40 0.00E0

=== Laser OFF ---
Entries: 5300
Mean: -0.0025 <« 0L004T
Sid Dhey: 03143 4 00031
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Run 6171 quartetwize, Asyms UShg2
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=== Laser O -—-
Entries: 4123
Mean: 00020 +- 0.0060
Sid Dhew: 0U3EE1 o8- 00043

=== Lager OFF ---
Entries: 5100
Mean: -0.0056 «- 0053
Sid Dhev: 0U3897 & 00030
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Run 6171 quartetwise, Asyms DSbg2
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=== Laser O -—-
Eniries: 4123
Mean: 0UOESE «- 0.0013
Sid Dhev: 0L0E20 - 000G

== Laser OFF ---
Eniries: 5300
Mean: 00012 «- Q.0012
Sid Dhev: 0.0E40 - 00000
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Run 6171 quartetwize, Asyms Vert Finger

=== Laser O -—-
Eniries: 4123
Mean: -0.0086 «- OKEE
Sid Dev: 0.2424 - 00027

== Laser OFF ---
Eniries: 5300
Mean: 0U00E3 +- 0.0035
Sid Dev: 02832 - 0.0020
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Run 8171 guartetwize, summb vs time
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Run 8171 gquartetwize, posH4 vs time
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Run 8171 guartetwize, diffd ve time

Run 6171 quartetwise, asymdsub vs time
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Run 8171 guartetwize, USbg1 vs time
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Run 8171 gquaretwizse, variFing vs timea
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